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Hello World

» RRICTOTSLEHHES
TEREDTITATSLEAT

#include <stdio.h>
int main(void)

printf ("Hello wor |d!1¥n");
return 0;

}



« FEENDT7AOTSLEAN

#tinclude <stdio.h>

int main(void)

Int a, b, wa, sa, seki, syo;

10;
3;

a
b
wa=a+b;
sa=a-b;
sek 1=axb;
syo=a/b;

printf ("%d+%d=%d¥n", a,
printf ("%d-%d=%d¥n", a,
printf ("%dx%d=%d¥n", a,
printf ("%d/%d=%d¥n", a,

return 0;

wa) ;

sa)'
seki) ;
. SY0) ;
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#include <stdio.h>

int main(void)

Int a, b, 1Syo;
float c, fSyo;

0:
0

iSyo=a/b;
fSyo=a/c;

printf ("EWEHEE ! ¥n") ;
printf ("a/b=%d¥n”, iSyo) ;
printf ("a/c=%f¥n”, fSyo) ;

O T o
[l

1
3
3

return 0;
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#include <stdio.h>

int main(void)

{

Int year, month, day;

printf "FEAEFZF AL TLIZELW¥N=>")
scanf ("%d”, &year) ;

printf ("84 AZ A AL TLZEL¥n=>") ;
scanf ("%d”, &month) ; \

printf ("EtAE BZ A AL TLZEW¥n=>") ;
scanf ("%d”, &day) ;

printf "HAG-OHEFEL BIT¥nWdEYdBUWdBYNTT 42 ? ¥n”, year, month, day) ;

return 0;



* 2DNDE(@,L)ZANLT. ROEZEH DT ST

IS LEEN
=Afz0OmiE (a: €l

- MO m*E (a:F %)

- BE (a: ¥k b:ER)

- B (a:EBR b:ETL)

- B (a:EBE b:EH)

l

[LIJ

=E

H B

o~ B2

b: &)




#include <stdio. h>
int main(void)

int a,b;
float san,en,v,r, i;

printf ("adE¥n=>") ;
scanf ("%d”, &a) ;
printf ("bDE¥N=>") ;
scanf ("%d”, &b) ;

[/ INRUTZERLI=RICT HF=0I1,
[/ * *DEIGERIRZENMZ TS,

// BIDFELHLI . TNITEB,
san=axb/2.0;

en=a*xa*3. 14;

v=b*a;

r=(b*1.0) /a;

i=(ax1.0) /b;

printf "=AROEEWTYNHOEIELTYN", san, en) ;
printf ("B EYT¥NIEINGTYNETRUTYN", v, r, i),

return 0;
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